Which one of the following shows isogamy with non-flagellated gametes?
a) Sargassum
b) Ectocarpus
c) Ulothrix
d) Spirogyra


Five kingdom system of classification suggested by R.H. Whittaker is not based on
a) Presence or absence of a well defined nucleus
b) Mode of reproduction
c) Mode of nutrition
d) Complexity of body organization


. Which one of the following fungi contains hallucinogens?
a) Morchella esculenta
b) Amanita muscaria
c) Neurospora sp.
d) Ustilago sp.

. Archaebacteria differ from eubacteria in
a) Cell membrane structure
b) Mode of nutrition
c) Cell shape
d) Mode of reproduction

Which one of the following is wrong about Chara?
a) Upper oogonium and lower round antheridium
b) Globule and nucule present on the same plant
c) Upper antheridium and lower oogonium
d) Globule is male reproductive structure

Which of the following is responsible for peat formation?
a) Marchantia
b) Riccia
c) Funaria
d) Sphagnum


Placenta and pericarp are both edible portions in
a) Apple
b) Banana
c) Tomato
d) Potato


When the margins of sepals or petals overlap one another without any particular direction, the
condition is termed as
a) Vexillary
b) Imbricate
c) Twisted
d) Valvate

You are given a fairly old piece of dicot stem and a dicot root. Which of the following anatomical structures will you use to distinguish between the two?
a) Secondary xylem
b) Secondary phloem
c) Protoxylem
d) Cortical cells

. Which one of the following statements is correct?
a) The seed in grasses is not endospermic
b) Mango is a parthenocarpic fruit
c) A proteinaceous aleurone layer is present in maize grain
d) A sterile pistil is called a staminode

Which of the following Bt crops is being grown in India by the farmers
(1) Cotton
(2) Brinjal
(3) Soyabean
(4) Maize


Macromolecule chitin is
(1) Phosphorus containing polysaccharide
(2) Sulphur containing polysaccharide
(3) Simple polysaccharide
(4) Nitrogen containing polysaccharide


One of the representatives of Phylum Artropoda
(1) silverfish
(2) pufferfish
(3) flying fish
(4) cuttlefish


Secondary productivity is rate of formation of new organic matter by
(1) Parasite
(2) Consumer
(3) Decomposer
(4) Producer


The incorrect statement with regard to Haemophilia is :
(1) It is a recessive disease
(2) It is a dominant disease
(3) A single protein involved in the clotting of blood is affected
(4) It is a sex linked disease

16. Advantage of cleistogamy is
(1) More vigorous offspring
(2) No dependence on pollinators
(3) Vivipary
(4) Higher genetic variability


Transition state structure of the substance formed during an enzymatic reaction is
(1) permanent but unstable
(2) transient and unstable
(3) permanent and stable
(4) transient but stable


In China rose the flowers are:
(1) Actinomorphic, epigynous with valvate aestivation
(2) Zygomorphic, hypogynous with imbricate aestivation
(3) ) Zygomorphic, epigynous with twisted aestivation
(4) Actinomorphic, hypogynous with twisted aestivation


Which of the following are likely to be present in deep sea water?
(1)Eubacteria
(2) Blue green algae
(3) Saprophytic fungi
(4) Archaebacteria


Variation in gene frequencies within population can occur by chance rather than by natural selection. This is referred to as:
(1) Genetic drift
(2) Random mating
(3)Genetic load
(4) Genetic flow

